270 + 30 88+4

Clearly explain your Clearly explain your
mental method. mental method.

Which of these is the odd | Which of these is the odd
one out? Why? one out? Why?

36 +4 360+40 63+7 630+7

3600 +40 3600 + 400 6.3+0.7 630+70




Answers

270+30=9

Clearly explain your
mental method.

88+4=22

Clearly explain your
mental method.

Which of these is the odd
one out? Why?

36 +4 360+40

3600 +40 3600 + 400

3,600 + 40 is the odd one out
because all of the others have
the answer of 9.

Which of these is the odd
one out? Why?

63+7 630+7

6.3+0.7 630=+70

630 + 7 is the odd one out
because all of the others have
the answer of 9.




